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QUESTION 1

In Report Studio, a block object contains a text item in the page header. If the author reuses the block in the page
footer, which of the following is true? 

A. The author can replace the child object with an object of a diferent type. 

B. The author must replace the child object with an object of the same type. 

C. The author can replace the parent object with an object of the same type. 

D. The author must replace the child object with an object of a diferent type. 

Correct Answer: A 

 

QUESTION 2

In the report shown in the image, 

users click on the Retailer name in the lef and see the related data on the right. What is the technique used to create
this report? 

A. Master-detail relatonship where the master and the detail is in a separate list 

B. Drill-through defniton where one column in a list drills through to a separate list in the same report 

C. Master-detail relatonship where the master and the detail is in the same list 

D. Drill-through defniton where one column in a list drills through to the same list in the same report 

Correct Answer: B 

 

QUESTION 3

An author creates a report in Report Studio. The report contains a parameter for the Product line query item. The author
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wants to let users drill through to this report from a variety of reports created using the GO Data Warehouse (query)
package. To ensure that this target report contains data for the appropriate products, the author wants to limit the report
cells that users can drill through from in source reports. What must the author do when creatng the drill-through
defniton? 

A. Set the Product line query item as the target of the drill-through defniton. 

B. Set the Product line query item as the scope of the drill-through defniton. 

C. Add a parameter for the Product line query to the drill-through defniton. 

D. Delete all data items except for the Product line query item from the drill-through defniton. 

Correct Answer: B 

 

QUESTION 4

In Report Studio, an author merges Query1 and Query2 into one result set (Query3) using a Union set operator. Query1
contains two data items: Order method and Revenue. Query2 also contains two data items: Product line and Quantty
sold. The author wants to display the data from Query3 in a list report. How can the author ensure that all the order
method results appear together and all product line results appear together in the list report? 

A. The author must add a sort key data item directly to Query3. 

B. The author must sort the Order method data item in Query1 and the Product line data item in Query2. 

C. The author must sort the data item in the Query3 that retrieves both Order method and Product line data. 

D. The author must add a sort key data item to Query1 and to Query2, and then add this sort key data item to Query3. 

Correct Answer: D 

 

QUESTION 5

In Report Studio, what is a baseline? 

A. A value in a list report that other values are compared against. 

B. A constant value that represents the x-axis in a chart. 

C. A constant value drawn on a chart to indicate major divisions in the data. 

D. A break point that keeps part of a report statonary while the user scrolls. 

Correct Answer: C 
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